MAIRCY

UTILITY BENCH
SB-10100

IMPORTANT: Please read the Important Safety Notice and
Assembly Information in the Owner’s manual before assembling

this product.

Assembly Manual
150602




O©IMPEX INC. 1 www.impex-fitness.com



292

DI

4 X 1 .ﬂ v
54X 1 | ﬂ 40)x1

L102030405060708090100110120130140150160

O©IMPEX INC. 2 www.impex-fitness.com



(]1 (MR %2 M10x4 3/8”

x2 ®3/4" @ x2  M10

©IMPEX INC. 3 www.impex-fitness.com



) E:IIIIMI x3  M10x3 1/8” @ Qlllll]]lll] x2  M10x3/4"
@

@ x8 ®3/4" @9 @ x3  M10

O©IMPEX INC. 4 www.impex-fitness.com



x2 WM10x31/2” @ @ X6  ®3/4"
x1  M10x3 1/8” @ x3  M10

©IMPEX INC.

5 www.impex-fitness.com



@ NN =3  m10x6 1/8”

@ (——m x1 mex158" @ @ X6  ®3/4"

©B xt Me ® ©f= wmo
@ [[j x2  ®3/4" x3/8" @5 © x2 o3

©IMPEX INC. 6 www.impex-fitness.com



x8 o@5/8"

® ©

x8  M8x1 5/8”

G  (wm—

S.com

www.impex-fitnes

©IMPEX INC.



©IMPEX INC. ] www.impex-fitness.co



©IMPEX INC. 9 www.impex-fitness.co



10

©IMPEX INC.



IMPEX® INC.

2801 South Towne Avenue, Pomona, California 91766
Tel: (800) 999-8899 Fax: (626) 961-9966
www.impex-fitness.com
support@impex-fitness.com

O©IMPEX INC. 11 www.impex-fitness.com



http://www.impex-fitness.com/�

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

